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 SECTION-A ; Fie B % T Gy

'Questlon 1 consnsts of Multlple Choice .Questions (1-xi1) of 1 mark each. Choose the -
appropriate option from the given optlons : . 12X1—12

1.(i) Which of the followmg 1ntegerw1ll fill the blank? Foar o 1
0+ =43 |
(@ +43 o x v (b) bl ’
74 —4/ DO S @ 100
(@ii) - The tally marks for numbers 7 is : ‘ '7 el , S
(@ |||||||-  R 3 ® N N| Y |
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~(iii) How many angles'are there in the given shape? " Rk

(iv)‘ Find the area of the circle of radius 7 cm.. i Lo g e
' iy 100
154

@ 49cm’ i B
() 298 en - A0 s g
W) = Whlch of the following letters of Enghsh alphabet has reﬂectlonal symm

horizontal and vertical mlrrors? R : ; : S

%X
© T

(vi) For any integer a=0,0+ais:

etry about both
1

-

| _ (@ a
(¢) . Not defined

VII-MATHS-M

RN PO W : - j
\ V" . . . - . ¥ .
L S L) taary : i ‘ X >



 (vif)" Which of the following angle is equal to i giiplement? 5ot e e e el
. W 4%/ 4, ,. ; : ..\ 1 (d) i 300 . , ' . S s ... oy i | ,‘,'
(vm) The distance around a circular reglon is known agjtsd RVERLER 3 N N
4 Circumference R N e, (b) - Aréa b, Sade e i
: (C) Radiu R S (d) | Dlameter
(ix) = Which of the following statement 1s trueq »
@ D> 05) iy v@é?’ (—7) < (—5)

© ENFEDFO R N (—7) (_5) >0 Bl AR IR
.(x) How many end pqints does d ling have?, - el T je s o, i 230
‘,(a,/ 0 L : 4 e ", st r ’ by 'x(b) .: \ ] : \ : 1‘1 e . ,I‘ 1‘, ) ! ‘/ oL

4 (e).. 2 ' iy SR () Inﬁmte *’ z .
(xi) The ratio of area of 01rcle to the area of sennc1rcle is: LT

& 25 LBl :‘Q" i‘«'“"-i::? i :’7

Plopidrsirset eyl

(xii) The int¢ger whose product with (=1) is 1 is :

¥ Wy DL S _’_,,. Al 5 ! .' ; I ' "'. iE—(;’—I‘—IQ_N__—B- ‘ : i i . / . /‘,.‘:’ : ot : | . .‘ v : i .
: _Questlon 2to 7i is Objectlve type questlons of 2 marks each o 3 ff s " 6x2=12

2% erte down a pair of integers whose : 7 :
(@) Sumis(-5) =¥ >x27 - (D= S"‘“S

N (b) , leference is (—2) = \?/\4 LB %L ) = lﬁ!ﬁ‘} 1 :
: @ In the glven ﬁgure the arms of two angles are parallel If APQR —70° Then AR Sy
: : 1 by g s s
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In the given ﬁgure AABC is right angled at A AD is perpendlcular to BC.If AB = 8 cm,
BC—l7cmandAC—15¢m g Y QY - lv_2
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y matmec J—xBxH
-3 -1-><l.';~'><8’--|2’13 Goam

T "‘ p=. 1 f

‘L/‘) ﬁxcau(— APBC /,l xecxﬁD

: : Y - ‘.‘b; iy ,i,( BXAD = é° ¢
6)) F1ndtheareaefAABC Gis i e, T g 2o KT 120
_ (i)  Also, ﬁnd the length~6T AD f i - Ay .5 ‘ Ly ;.Z;m
.5, State the number of lines of symmetry for the followmg ﬁgure% i o o E 2
’ () Arhombus 2 ‘ L : ,
(b)) A parallelogram Q e 34 e
6. Find the additive inverse of the followmg mtegers SR D
SR R (R T ‘L?> Gl R e
) g SR8 AT o et B} i R
_7,;~r_-, State the kmd of each of the followmg angles kA i A 2
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SECTION-C

Qs8to 10 is Short answer type questmns of 3 miarks each »,,. < bRy '3x3=9'
¢ 9_ ,:;!.;. . . 3 B
8. An elevator descends mto a’ mme shaft at the rate of 12 m/mln If the descent starts from

/ 20 m above the ground level, how long w1ll it take to reach -340 m? y R 3

(@ Inthe given figure, if £||m. Fmd the unknown angles (p, q, I, s,t& EV 360m 3
"¢ Telal' dlisiente Covaned by @W‘ 3—0 C 390'"3 5 2o OCC PW"&“‘*&A

j fro § i feeri(

T'me*“"w"" ok
e '—,eo (waf’“")

111 Y Hﬂea%-b\@ﬂ
_ ﬁ{mcb,g}g@hé)ﬁeglen—s ¥ y d‘\) W\ i lgfgx\ymp’ =3l4y®
. piha i WS - R (}b %
s e ; “Ocm“ | f\gea%—&mdﬂﬂnunaa TD(
? 3"407’ —SD 2””" NN Al 2 2y S AL

” <———*—O‘I’{” ”\ é@so-z.wcm
% The 'Base of a parallelogfam is'twice‘ its sh'éight. If the ‘are;a_v_gf_gl_e parallelogram is _

: 578cm Flndthebaseandhelght g A R A . O O
s Dot base - poaliehgram =Ve Ly x 20t = BAF gge-ma
 height o Pmmﬁ/wm DT B = SH g

g MR fw”bL paralielogren’ = BmeugM S D SR
S m,m > 5Fgent g =289 |7 g
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: N SECTION.D : 3 A% | ' : )
0 11 t0.13 is Long answer type questlons of S marks each .

The sale .of electric bulbs on dlfferent days of a week

Ui Al 3x5=15 3

il is shown bellow.a Answer the

4 followmg questlons
& VEEES] R s (e i HHH T Rt fitisal il i i
& ';.,ﬁ‘ H S84 g Hit 13 3 1 % S3 1382 H1 258 H 1
AT L i AR TIRRY 23 il T ¥
o i
; ishtes! i BRI g3 A s
! et et L C e ot ! i L it
| i1l e i : i nHET N R A A
il [ T HHIE L T R S e I
Q6 ) i i R : L
] ;_i}; ¥ i hﬂﬂf‘ 3;.: EH [t i fl' By : [BRATEEs
. ; _:5:_ -.-u ‘;_ ! 1—.._4: soaR o ,.é ::t“ jiz __“t
{ fi3ticl D) iR e | EURRTSEES SRt sOEICERH) i ot |
! i il H & 5| B! 4 (HEH T
i e EiEE) ESEECH TR iR (A i [
) Y EETY 13EE BT VhT s %3 JRUUE I p ! SR S ey el
o9 »:?,‘ H_i I:- e ‘EI . I s 15 ® # 1) 4} .4..: ; »F. =
i i e LS g
5 S A S R e R 3
% ; . g » H uf_i” H i e
A il S e pere e et A R e :
@ How/many bulbs are sold on Fnday? v b"d’bé : ‘ Sa}w-d_ag
(11)_ On Wthh of the days, minimum number of bulbs were ‘sold?’ (Wednebe 5 |

, .~On Whlch of the days same n‘umber .of bulbs were sold? U)Qd-n%d“’d Qd g

On which of the days, maximum number of bulbs were sold" gundaﬂ

If one »big;carton‘ can hold 10 bulbs. How many cartons .wereneeded in? _given

G

s Draw a bar graph of part1c1p

Whlch sports is most popular‘7

ckd

Wb
W

ants usmg an approprlate scale. "

i»

week? 9 cordond LN
~ _:(\Ionvs‘ider‘this _date cgliected ﬁom‘a survey ofa collo'n‘y."." z - > ? i e | 5
} .| -~ Favourite ... Cricket ' Basleet:BaII‘ 1 SW1mmlng Hoeke_y ’At_hletics?
[ Watching 1240 07 T510 % 1/\430' ' 250
! [Participating 600 350 | 400 250 | 300
i

(i1)
(iii) Whlch is more preferred watchlng or partxcrpatmg in sports? (/Uaj dwﬁ

(@iv) - 7 Name the sports where the number of partlclpants 1s hlgher than the number of
& “viewers, ~ AFhiehe Al
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| 2.5 What will be the measure of the. supplement of' each one’ of the. followrng angles? 5
) (1) 100° jlgo—!oo go . R (11) 9'00 <) 180 —30 30 T
i) 55 D 1§o-55= st ‘- @ 125° 9 ’@ﬂﬁ TR AR

| S S . ‘ 2 P | ‘ ! ¢ :
i ™) . 3 ofnght angle .3 2 KS_ -) ‘g° D 36 3 f \ \_I-'-'j] >
g ST 5 i 5ut>d>lemertt/ 180—36 = lw‘t | W

T2 i tho it T S i

A ».3-":' I- ‘;:‘.;' BT t, e, Sy *’ ‘ f:: ;:.' g T ::‘ T P -»-':,;

i : (i) Parrs of correspondmg angles ' i (11) Palrs ofvertlcall i les

B i ~ y opp051te ang es -
e e o o 21adlS, LU ad 2R, 22 agg L3 LT izlle3, 2 el e5od 7 e ““43

E. (111) Pairs of alternate angles
ff L Yyedl 6, LSMZ% vax WSZ? 2209 é@ by -'::,;::,.-' -j;?ttf Fe
él3 Wnte centre of rotatlon and order of rotatlon for the followmg shapes :

;"':i_av',(ll) ~Scalene tnangle ',' oy

(111) Regular hexagon .(rv) .Crrele

() . Rectangle’ © T fimgE s ws v
At g AN SECTION-E SR S
'FQ 14 to 16 is- Source Based/Case Study Questlons of 4 marks each A 2 3x4%12*~*‘ ;

?14 In Shimla, the temperature at noon was 6°C Over the next few hours, the temperature
X dropped by 3°C each hour: s Bebiriagip B b : 4 L 3
; " -'Based on this 1nformatlon answer the followmg questlons

L) What was the temperature at 12:00 noon? &G S 1

‘t\‘ s 6 3C3> . 6__3 ,5_3 C n \5

';;'!‘_ ¢ (i) - What was the temperature at 3:00 PM?
y (iii) - If the temperature rises by 2°C per hour till 3. O’clock and dropped by —3 C per
: s -,hour after 3 p.m. then what would be the temperature at6pm?. . 2

| .. OR +3Lz>¢—3(33->6+6 8
T ) eg" G

'. A the temperature &t © pam. Jee _IZOC and it rose by.2°C per hour durmg the
mght what would the temperature be at mldnlght? i !
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) If the conﬁnumty demded to add a
t . bethe new AIrea including the- path? \

)

i1 5_ A class of 30 students was surveyed about thelr favounte fruits. The results are as
<7 follows i 4 o Sl o . I gt
l ' ‘ A / ./:/:/. g ! "/ { - { ",1,‘\
Y7 |.; F avounte Apples Bananas! Oranges™ ; |~ Grapes 'Mangoes ;
_(f;” | Frults 3 e v y AN i /)
i s i 7o e L f
, No.of students 10 - 8 S 4 ‘ ;f 3]
: by 5 T , ‘ '\ [
; .. L TV \\';\:’ —~,/ i ,/
!, Based on th1s 1nfonnatron -answer the followmg questlons ,\ . " N / /
R (VI Whlch fruit is the most popular among the students? pef P’% }_ : , }' 1
H (ll) What fractlon of class, prefer bananas‘? 380 b q b S ; 1
- (111) Represent the data in tabular form usmg tall,y marks Lie. 2
‘,"\‘ S I\ L / ] i LSRR . s S
= ; Lo e “‘ l‘“ \ - OR ,\ r;’»"‘ '
If 10 more students Jomed the class and’ half of. them preferred grapes, how many i
f.oa students now prefer grapes‘? -J——Leg-lo > q +5 9 SWdA O W
f,‘_"l6.} A commumty 1s developmg a cn'cular park of radlus 14 meters They plan to mstall a
walking path around a park and place benches at regular mtervals along the
L o cucumference AN ENR e 'T
W T 25 i on ERpen B . Fi 3
b ol e T 6 en&ﬁlw‘dﬁ o
b e AN >2/ o ds 88 m
B =, - ‘ \ X
b oy Y M .. =
sy 70 % & r\‘> N° ¢ b“’d’ . *C‘?/w"d
LR 4 ‘A [ % A A/ J.5
Doy 2x28 - o\ N D 88"’ S 22 be”m '
\ - e . 1 )k
= e " r‘,{ ‘ ' iy OR.,
| X f s the fll ing g t '“> MMAH"'ZG’; ot
x Based on th1s in ormatlon answer the fo ow1ng ques ion 2
; r-ﬁ’ firea o chdle= TV
,: ¢ ) Calculate the area of the circular park. 2 _}) 22)( 16X 16 é :
(11) F1nd the c1rcumference of the park o/ / 39_ N 809 S? m
b = R G ] ﬁié—’
’ If benches are jplaced after every 4 metres along the crrcumf?ence how many
g J ‘benches will be requ1red‘7 Ry T g o R
rs. . }. ] ,.,’ e ; . _f,' ' 4 ,.‘ ~ 0‘ \ 3 y N
S »;/ A e 1O i el |

Z-meter W1de walkmg path around the park, what will
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